Practice
-- 1. Find V, in this circuit:

_ Vi,=12V

Loads connected in series have the same
current; loads connected in parallel have

AN
_ V=20V

——. 2. Find I, in this circuit:
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Find V,, V,, I;, and I, in this ircuit:

V,=6V I.=4A

V, =18V
l,=4A
|
ly="2
1
V,=3V

4. Find V,, V;, V,, I, and I, in this circuit:

V,=36V =7
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l,=2A
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V=2

V,=20V

the same poteniial difference.
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3. In this circuit, find v,, Vi, Iy, I, I, and R;.

Vo=120V

Y RV=TOQ
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V, =45
R, =30
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1 =600 R,=600Q

R, =300

I;=6A

V /20 /o /go 5 Ip this circuit, find v,, V,, V;, I,, I, I, and I,.
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Ry =220

R¢=330Q
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